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[A] ROBEZTHKT 2B 2, FLTIED 2 S0,
1. Question: What ?

Answer: I am an engineer.

2. Question: ?

Answer: I was born in 1999.

3. Question: Would ?
Answer:  No, thanks. I don’tlike coffee.

4. Question: How ?

Answer:  Go straight three blocks, then turn left. The station is on the right.

5. Question: How ?

Answer: I go shopping twice a week.

6. Question: May here?

Answer:  No, I'm sorry. This is a no smoking area.

[BIROIXHF D, F#ZEGIWNT GBI R HITVWEROFEM 28 A T il TE AR IV,
1. I had a doughnut and some coffee.

A) bought B) made C) ate

2. My brother and sister are coming to visit next month.
A) there B) they C) their

3. How many employees do you have?

A) bosses B) supervisors C) workers

4. Did you think the quiz yesterday was difficult?

A) had a few problems B) was not the same C) was not easy

5. T hardly ate today. How about you?
A) had difficulty eating B) ate a lot C) ate very little



6.

I seldom go to the movies. I only went twice last year.

A) usually B) rarely

C) never

[C] ROFEFHHTHIEE L TR OEYRLDEZEAT, L TEILRIVY,

1.

[D] ROZEMNIAL R G2 H D ZRAT,
1.

2.

How are you doing?
A) I'm going shopping.
C) I'm not doing anything.

. How much is this bag?

A) It is only 1.2 kilograms.
O) It’s $12.50.

I have a cold.
A) I'm not, but I will close the window.

C) Yes, it’s only 10°Coutside.

. Did you get a haircut?

A) I think so, too.
C) Yes, do you like it?

. What’s the date today?

A) No. She is too busy to go out.
C) Today is October 28.

. Is this seat taken?

A) Yes, I took it yesterday.
C) No thanks. I already have a seat.

This test is hard — maybe hard!

A) to B) two

I am left-handed, but I eat with my
A) rite B) right

B) I'm a little sick.

B) That bag is for shopping.

B) That’s too bad. Get well soon.

B) No, it’s over there.

B) I think it is Friday.

B) No, please sit down.

A TELRI,

C) too

hand.
C) write



3. When are your parents coming home? be home soon.

A) They’ll B) Their will C) There
4. When you go shopping, can you some milk?

A) buy B) bye C) by
5. Also, can you pick up some chicken or other ?

A) meet B) meat C) mete
6. The doctor will see you soon. Please here.

A) waite B) weight C) wait

[E] ROXIF, AT - Va—r XL AOHCHENM LT, 1.~5.0( )DFER) %
WAL T, HERAXEZZR L, TRTOELEEES RS,

My name is Bob Jones.
1. I (from / America / originally / am ), but (for / Spain / years / in / many / lived ).

After moving to Japan, I became an English teacher.

2. I worked ( school / in / one / high schools / elementary / several / and ).

I have one brother and two sisters.

3. My (are/ my/ a/brother / teachers / is / farmer / and / sisters ).

I also have two cats and like gardening.

4. T don’t (but/ delicious / are / natto/ like / pickled plums ).

I want to live in Japan for 5 more years.

5. After 5 years, I plan to ( back / and / America / a / become / go / to ) truck driver.



[F] RO ZHODHELAFHAT, BOMWICRE S TERRIVY,

ZFEDER L. IEAE

1. What does “vibrate” mean?
A) set in motion
B) move back and forth
C) waves in the air

D) the starting point

2. How are a water wave and an air wave similar?
A) they travel at the same speed
B) because of these simple facts
C) one molecule is pushed into the next one

D) we cannot see either of them



3. What makes sound?
A) when your eardrum pushes the air
B) when waves push the molecules
C) when things moving back and forth

D) when it finally reaches the listener

ZFEDORER L. FERH

4. Why is it sometimes so hard to succeed?
A) Because you have always done it before.

B) Because you don’t have a chance of
passing.

C) Because your fears don’t come true.

D) Because of your fear of failing.

5. What does “fail over and over” mean?
A) fail over time
B) fail many times
C) never fail

D) never over succeed



6. Why does a new skill seem harder if you’ve never done it before?
A) Because you remember how hard you thought.
B) Because your fear of failing made it hard.
C) Because you hardly tried over and over.

D) Because anything made it harder.
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TR6FE —MmATRER (B AR) JEEEME T

(What ) do you do (?)

When were you born (?)

(Would ) you like some coffee (?)

[A]
(How ) can I get to the station (?)
(How ) often do you go shopping (?)
(May ) I smoke (here ?)
[B] C 2 B 3 C 4 C 5 C
[C] B 2 C 3 B 4 C 5 C
[D] C 2 B 3 A 4 A 5 B
am originally from America / lived in Spain for many years
in one elementary school and several high schools
[E] brother is a farmer and my sisters are teachers

like natto but pickled plums are delicious

go back to America and become a

[F]




S0 6 A E

— fixit A SRR

N\

[BH ]
V%C%J

(FHIBREEH 5 0 5

EEFHIR
ERNBHDHET, ZOHMERNRNT &,

. MERES L O RARICZBRE S E2TRATHZ &,
. R RRRICREAT A Z L,
 ZOREAKIE, FILET,

B

(20234 (FM54) 12H8H)

SUR- PN TR R i



1. DUTFORBWCEZ 2 S0,
(1) (a+3b+2c)* ZEEA LIV,
(2) 27a®+8b3 EREM LR E W,

3) HHE x2—x—1=0 ZEX/2 X\,

W) s = T o AT o b OffiEkDR S,
(5) FEX x2—2x—3=0 #7230,

(6) R 2% = 64 EHfRE &,

(7) logz72 —logs8 ZRtHE L7z &,

(8) sin@z% DL X, cosh | tanf OEZRDIE IV,

9) JFsS 0 2t d5, H (34) ZEAHO TR EZEZ IS0,

(10) 2x+y)” ZEMLZEZD xty? OREERD I,
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(1) KOMRIEZ KD SV,

341 in5
@D lim T @ lim S oX

x—>—1x2—x—2 x—0 sin 4x

(2) y=Vx2—x+2 ZMWH LRIV,

(3) Mty =tanx Lo (3,1) 0BT 2HHROFRAE KD SV,

@) ERS [S(x—2)(x—5)dx DffizRHAR S,

(5) EFfEY f6c053xsinxdx DEZ RO 72U,
0
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1. Gr3em)

(1)

(2)

(4)

(5)

(7)

(8)

(9)

1/4

(a+3b+2c)? =a?+9b? + 4c? + 6ab + 12bc + 4ca
(4 )
27a® + 8b% = (3a)® + (2b)3 (3) x>—x—-1=0
= (3a + 2b)(9a? — 6ab + 4b?) 145
(3 ) D=1+4=5 « x=——
(4 )
: @ b (x+2)+b(x—1) = (a+b)x + (2a - b)
= e = —_ = —
x—1Dx+2) x—1 x+2 x=ax x @ x .
) {a+b=1 . azl b:E
" QRQa-b=0 " 3’7 3
(4 /5)
x2=2x—-3=(x-3)x+1)<0 (6) 2% = 64
w —1<x<3 2*=2% . x=6
(3 #) (3 H)
72

log, 72—log38=log3§=log39=2
(3 20

2 2\? 4 21 V21
i — — in2 2 = 2 = — gin2 = — | = = —_——_— = =4+ —
sin @ z sin 0+cos*8=1dDcos“0=1-sin*0=1 (5> E =72 cosf =+ z

2

sin 6 € 2 V21 2 V21 2>
tand = —— X Y tanf = =4 ~(cosf ,tand) =|— ,—| |(-—— ,—— 4 5

cos 6 +@ V21 ( ) <5 21> ( 5 21 5

- 5

ZOMOYRErET5 &, (10) x +y)” O— AL ,C.2x)" - y7 " = ,C.2"x"y’"
r2=0B-02%+(4-0)2=9+16=25 x"y" T =xty3 DL Er=4
L ZOMO¥ERIIr=5 &7 5, o xty? OfRHU
Xo7T, ZoMHoHREAT 7X6X5

7C424 = 7C324 24 = 35 X 16 = 560

=—FX
(x—3)2+(y—-4)?%=25 3x2x1

(4 25 (4 /5)
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(L

2/ 4

x*—x+1 (=1)?—(-1)+1

= lim

x>-1 x—2 -1-2 (3 #)
=—=
(3 /)

_ x3+1 o (x+DE*2=-x+1) @ _ sin 5x
lim ———— = lim sin 5x 5X =g
xo-1x2—x—2 xo-1 (x+1D)(x—2) lim — = lim .

x~0sindx  x-0, SN 4x
4x

4

(2)

y’—(\/xz—x+ ) =((x —x+2)3>,=%(x2—x+2)_§x(2x—1)= ax 1

3V (2 — x + 2)2

(4 %)
(3) | o
y' = (tanx)' = e
T tans=1,y' ! 2
= — > = —_= = =
SIS A ey
7}
LoT, korEHmoFRAT
—1—2(x—z)‘ =2x——+1
yoi= 3) YT 2
(5 )
(4) 5 1 33 9
—2D)(x=-5)dx=—-=-(5-23=-"=—-2
| G-De-9d=—g6-20=-F =3
5 1 7 5 1 7
J(x—Z)(x—S)dx=j (x2 —7x +10) dx x —Ex + 10x =§(125_8)_E(25_4)+10(5_2)
2 2
_ 117 147 30 = 39 147+30_69 147_138—147_ 9
3 2 B 2 N 2 2 T2
(4 %)
(5) -
dt x:O—)E
t=cosx B L, oy =~ sinx, 3
t:1->—
2
% V3 1 1

s vainade o [ —vge— [ oage<[Lptl _1(1_9\_7
. . cos" xsimxax = . —t t = gt t—[zt :|\/§—1< —1—6)—a

(5 5)
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3. Gtz
) @B = @] [FcosE=1x1x2 =2
a =l|a C053— 2—2
(3 £
@O AQ = A0 + 0Q =—a +tc &) 1.
(2 &) PQ = PO+ 0Q =—-b +tc
(2 A)
©) 2AQP =90" LV AQ L PQ -~ AQ - PQ =0
AQ - PQ =(—a +t7) (——b+tc)=€a b—ta-c—=b-CT+t?c-<
11 t 1+ , 1 t+t2_(t 1)<t 1)_0 t_1 1
62 2 62 12 12 B 4 3) 3’4
(5 )
3D AH =pAB + qAC & ¥<,
OH L AB,0H L AC 7*®»T OH - AB = OH - AC =0
OH = 0A+ AH = OA+pAB +qAC =@ +p(b -a)+q(c-a)=(1-p—-q)@+pb +q¢C
. TAR — T S\ = _1—Pp—q q P q
0H-AB—((1—p—q)a+pb +qc)-(b—(1)—T+p+z—(1—p—q)—§—E
1
=§(—1+2p+q)=0
. A7 — T ) > - _1=p—q P P q
OH AC—((l—p—q)a +pb +qc) (c—(1)—T+E+q—(1—p—q)—§_E
1
=—§(—1+p+2q)=0
. 2p+q=1 . _1 _1 . —>_1_, — 5
T e p=gamg s DM =5(T+5+7)  (44)
@ —2 1_) —_— . 2 1 s —s2 — —_— -7 — —_— —
| OH | =|§(a+b+6) =g\@P+|b| +IcP+2(a b +b-c+7-a)
_1 1+1+1+2(1+1+1> _8_2Z. |oH| = 2_J6
) 2 2 2)) 9 37 ]33
(4 50
® 1 .. 1 1 T 6 1 V3 V6 2
EIE]E{Z!—‘O—ABC0)%%@;(AABC@@?§)-|0H|=§><(Ex1x1><sin§>x§:§x§x§=§
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4. Gris
(1)

10=f(logx)°dx=J dx=x+C
1
L =flogxdx=fx’logxdx=xlogx—fx-(logx)’dx=xlogx—fx-;dx=xlogx—f dx

=xlogx —x+ C (CIIEEEE)
(3 M X2=6 A1)

2
( ) I, = f(logx)" dx = fx’(logx)n dx = x(logx)™ — fx((logx)”)’ dx = x(logx)™ — f x(n(logx)™ ! -;dx

= x(logx)™ —n f(logx)"'1 dx = x(logx)™ — nl,,_,

v I, = x(logx)™ —nl,_4
(6 50

(3) 1, = x(logx)* — 41,
= x(logx)* — 4(x(logx)3® — 31,) = x(log x)* — 4x(logx)3 + 121,
= x(logx)* — 4x(logx)3 + 12(x(log x)? — 2I,) = x(log x)* — 4x(logx)3 + 12x(logx)? — 24(xlogx —x) + C

= x(logx)* — 4x(logx)® + 12x(logx)? — 24xlogx + 24x + C
I, = x(logx)* — 4x(logx)* + 12x(log x)? — 24xlogx + 24x + C (C IXTEEE)
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